DS 122 Practice Midterm 2
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Problem A (10 points)

Consider the situation of parents who are expecting twins. So-called "identical" twins are twins
with identical DNA (meaning they will be born the same sex), while "fraternal” twins are twins
whose similarity at the DNA level is like any pair of siblings. The parents are curious about
whether their twins are identical (but the babies are not born yet). They know that among the
general population, about 1/3 of twins are identical.

Part 1

(2 points) Define the two possible hypotheses corresponding to the two cases of interest to the
parents.

Part 2

(2 points) What is the prior probability of each hypothesis?

Part 3

(2 points) The parents then get an ultrasound and find out that the twins are the same birth sex.
What is the likelihood of this outcome under each hypothesis?
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Part 4

(4 points) What is the posterior probability of each hypothesis? (That is, given knowledge of the
ultrasound, what should the parents conclude)?

Problem B (10 points)

You are given three dice: a six-sided die, a ten-sided die, and a twenty-sided die. You choose
one of the dice at random, roll it, and observe that you get a nine.

Denote H|y the hypothesis that you rolled the six-sided die, H| the hypothesis that you rolled
the ten-sided die, and H, the hypothesis that you rolled the twenty-sided die. Fill out the
following table.

hyp P(H) P(D[H) P(H)P(D[H) P(HID)

Hy,

H,

H,

Problem C (10 points)

You are playing Dungeons and Dragons. You are attacking 2d4 (meaning your attack is the sum
of two four-sided dice), but you only hit your opponent if you exceed their defense roll which is
1d6 (meaning a single roll of a six-sided dice). You want to determine the probability you will hit
your opponent. It turns out this is the probabilty of superiority of your dice roll over theirs.
Breaking this down into two parts:
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Part 1

(5 points) What is the probability distribution of the sum of two four-sided dice

Part 2

(5 points) What is the probability of superiority of of the sum of two four-sided dice over a single
6 sided dice?

Problem D (10 points)

Consider the three Markov Chains below. For each node, assume that all transitions out of that
node are equally probable. So for a node with 3 outgoing transitions, the probabilities are each
1/3.

@S/@ o “@;2@
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In this problem, "justify your answer" means you can explain in words, but if you rely on any
calculations, you should show them.

Part 1

(3 pts) Write the transition matrices for the three Markov Chains. Order the column and row
entries according to the numbers shown on the nodes.
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Part 2
(2 pts) Which of the three Markov Chains have at least one steady-state? Justify your answer.

Part 3
(3 pts) Which of the three Markov Chains have a unique (ie, only one) steady-state? Justify

your answer.

Part 4
(2 pts) For the Markov Chains that have unique steady-state, which of them converge to
that steady-state regardless of the starting state? Justify your answer.

Problem E (10 points)

For the Markov chain below, assume that the chain is in state
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In this problem, "justify your answer" means you can explain in words, but if you rely on any
calculations, you should show them.

Part 1

(5 pts) Is the chain in steady-state? Justify your answer.

Part 2

(5 pts) Does the detailed balance condition hold? Justify your answer.
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Problem F (9 points)

Consider sampling a posterior distribution using MCMC.

Assume the desired posterior is the uniform distribution on [0, 2] and 0 elsewhere, ie
pr(x)=1/2 for 0<x<2.
pr(x)=0 for x<0,x > 2.

Assume the candidate distribution is uniform on [0, 4], ie
pc(x)=1/4 for 0<x<4.

Recall that the Metropolis-Hastings rule is to accept a proposed transition from j to i with

probability:
. < ﬂiHji>
a;j =min | 1,
JZ'J'H,'J'

Part 1

(3 points) Consider a transition from x = 3 to x = 1/2. What is the probability this transition
will be accepted?

Part 2

(3 points) Consider a transition from x = 1/2 to x = 1. What is the probability this transition
will be accepted?

Part 3

(3 points) Consider a transition from x = 1 to x = 3. What is the probability this transition will
be accepted?
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